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< i 1) Who set you ori to do it? taZ LS del? o
: [Choose the correct meaning of the underlined 66l (A
| phrosal verb;)

Al Discouraged (1]

B} Motivated 18 (€

C] Instigated 550 D

D} Coordinated
2) Edgar in the play “King Lear” disgulses himsell
as mad beggar called

10) If A has two elements and # has three
elements then number of binary relations in

T 1 x His
[Fill in the blank with correct option:) ;” 2%y
A} Deadbeat E! 2.:I :
EJ Poor Tom 'Cj o
:}] Never-d i s
ey - e il o >t gy iy i [T
F has many mouths to feed. 0 Cotr (B ”h’:vflhl' i
given sentence is an example of 7] Jre (A

T ST
I [
MY D

12) Cube rootof 343 is
Al 115

13) Balance the following chemical equation:

Kﬂﬂj - -‘{H'az + 02

A) KNO; - KNO, + 0,

B) 2KNO;~ 2KNO,+0,

D) KNO; - KNO, + 30,

Sir Syed Ahmad Khan retired from the British

Service as

. A) Judge

| B) Revenue Commissioner

€) Principal

| D) clerk
| s

5 ii'ia-u_-_mnan-b\n stanza?
A ‘

|
g5




17) 1 hiand my sister on phang.

A)  talked
B} ralking
C) talk
B} had talked
15) My mother told
Friday
Al l.da
8) Me, todo
€) Mo doing
D) Mefor dolng
The dog digs under the fence
[The underiined part of the sentence is
asfan?]
A} Adjecthve phrase
B)  Noun Phrase
C] Advert phrase
0) Verb phrase
The light at the frant door suddenly went out.
[The underlined part of the sentence i
afon?]
Al - Prepasitional phrase
B)  Adjective phrase
C) Noun clause
D) Adverb clause
21} Pak-china border dispute was settled In

the report belore

19

—_

Fd
e

A) 1962
(B) 1963

ssessment that is carried out through
course is called: 4

nitial assessment
lagnostic assessment
e assessment

| 28 Whoamong the following s a reval

poet?

[Choose the carrect answerz]
A)  John Keats

B) P.BShelley

C) ST Coleridge

D)  William Waordsworth

27} She bought it for herself.
| The underfined word in the given sentence fs

asani]
A} Personal pronoun
B} Interrogative pronoun

C) Reflexive pranoun
D} Demonstrative pronoun
28) “Aform of a verb that is used to indicate a
past or ongoing action and that can be used
like adjective.” is called ?
Al Gerund
8] Present participle
C). Past participle
B} Participle
29) Next week he
Al wili iy
B) isflying
Cl 2 will be fiying
D) hasflown
30) The difference between upper limit of two
tonsecutive classes ina frequency table is
called
A)  Class limit
B) Class interval
€) Class mark
D} PRange
Special glasses used to observe the solar
eclipse are made by the use of
A] Concave mirrors
B) Convexmirrors
€] Lenses
D) Plastic ‘

to Dubai.

31

—

32) Table tennis balls are made from:
A Plant cellutose fro
B} Casein




37
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She is not cut out for iy

is kind of work_

Blliaat LM 2 1 3 W ].:'{Jj

. D) Noun phrase

| The ustal adulation of the officers must end.
{Eh00se the word opposite in meaniag to the
1 i I f

[Choose the correct

word;)

B) shy-—outgoing
C)  fun my=-entertaining
D] " nervous—a whward
49) There are Eeveral mistakes In your
composition.
[The underlingd word in
o/fan;:]
A} Adjective of quality
B)  Demonstrative adjective
€}  Adjective of nature
Dl Adjective of number
my work when Aslam

D) had done— came

45) A rallway line that is o langer i Iy

meaning of the underfined |
phrasal verb:] [Choose the carrect prefix to fifl n the ik )
Ar su".i hl‘f AJ’ n'l'ﬁr
c) Available €] Dis
D) Arrved D) In
Humanism and printing press were the A46) Which of the follawing s the most impartant
characteristics of7 single factor in undertying the success of
[Choose the correct U] beglnning a teacher?
Al Renaissance Al Secholarship
B)  Restoration B)  Communicative abjiity
€ Middie age €l Personality and its ability te relate to
D) Modern pariod thi elass
What Is sextor? D) Organizational ability
[Choose the correct onswer:] A7) Well begun is half dane,
Al Last sy lines o SORANeEL IThe underlined word in the ohven wentence Js
B) First sk lines of sonnet a/ar:]
€} First eight linas af swonne Al Noun
0} Last elght lines of sornet Bl  Werb
| wonder If Sara will be coming with s, €] Adverh
[The underlineg part of the wentence is 0} Adjective
a/an?] 48) Despiohis, personality, Salman can
Al Prepositional phrase berather . sometimes.
B) Adjective tlause A) strange—awkward
0}  Noun clause

the given sentence is

—_tosee
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il 541 Tie DNA molecule to which thi gene of
- ] interest 4 in integrated for clonkng ks called
- . Al Transformaer
-y B] Carrier
- | C}  Veclor
- B Al of the abowe
— 55) Methans reacts with oyRen molecuie 1o
- Bive product of water and carbon dioxide, |1
- H eharacterized as
- Al Combistion
- B Displacemint renction
- C)  Addition reaction

O)  Double displacement reaction
56) Simla Deputation was led by
Al Mohaln U Mk
B Mulina Mubanimad AN Johar
€l SirAgha Khan
0] Node of the above
3¢ The factor that affect the developmaent al
Eurrkelilum Iy called:
A} Foundations of currieibum
B} Curriculym Dersign
C}  Curriculum Evaluation
U} Elements of eurriculum
58] Philesophical foundation of curriculiim Is
3 :TMHHM with:

g4) The n'™ roal of producl LI

Ix callpd
Al Adihmelic mean
B} Geometnic mean
€l Harmordd migdan
Standard deviation
5) il Ir|;,lli i produced by burning gas heater
i winter, which causes death if acoumulates
i Mgl Amoiings
Al Carbon monoxide
B Capkson choslie
€l Mathiane
LT (T
) 1 some of your puplls misbehave with you in
thie sehool you st
A} Report to the principal
) Report 1o thelr parents
€l Improve thelr behavior by vour awn
character and scholarship
D) Mobilies othar teactiers against these guys
GBI Webs a Wr, youl should take his statemens
IChoce Bt suitable idiom to fill in the blank:)
A With s geraln of salt
0 Mot it w hold a candie
€} - Hivve a finger in the ple
D1 Ak il v the fire
) The strents of Peshawar are worss than
thase of Lahore,
IThe indesiined werd n the gfven sentence is
dfan|
Al indelinite promaun
B interrogative pronoun
€l Demonstrative pronoun
D) Rislative proroun
Jﬁ“-t-’h”ﬂtwh”ufﬁ-“u’x (1]
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»which language Shah Wali Ullah translated

the Holy Quran?
a)  English
&) Persian
C) Turkish

0}  None of the above

"8 Qbservation or one's own behavior by
tooking inward is known as the method of:
A)  Leaming
B) Introspection
€}  Observational approach
D} None of the above

76) The ability to think abstractly and systematically
solve problems emerges during the:
A) Concrete operational stage
B) Formal operational stage
€} Sensory motor stage
D) Preoperational stage

77) ik foolishto established traditions.
[Choose the suitable idiom to fill in the blank:]
A} Infiict on

B) Knock the bottom out of
C} Fy in the face of
D) Lock, stock and barrel
78} Shylock, the Jew, was a character in the play
by Shakespeare.
[Fll in: the blank with correct option:]
A) AsYoulikent
erchant of Venice
s Night Dream

? by imagery?
msames

84) He said to her, “which books did you buy

from this shop?”

[Choose the correct indirect speech:]

A) He asked her she has bought books
from that shop.

B) He asked her which books she bought
from that shop.

C) He asked her which books she had
bought from that shop.

D) He asked her which books she had
bought from this shop.

85) His endeavours proved fruitful.
[The word opposite in meaning to the
underfined word is:]
A) lustified
B} Efficient
C) Productive
D) Futile
86) “Look on my works ye mighty and despair.®
[From which poem this line has been taken?]
A) Good timber
B) |Dream A World
C} Ozymandias
D) Once Upon A Time
87) My teacher has eyesin the back of her head.
[The given sentence is on example of 7]
A) Hyperbole
B) Metaphor
C} Personification
D) Idiom
delloTiar. o zdnZ Ll PLasizy (es
< LurS
t:aC" e (A
Fur (8
au!’ {c
Zatur (D

83) Ali weight 25 pounds more than Akram if
together they weight 205 pounds what is the
weight of Ali
A) 135

B} 105

€ 115

D) 90
50) ;-ofanumberislzwhathu*m?
A) 36
B) 27
€) 18
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Cahoosi The wordl apecesire in meaning o the
nderkined word:]

A} Loyalty
i} Innocence
) intellgence

) Charity
a4) There came about a _ In the negotiations

betweei the two rval Rroups,
[Choose the suftable Idiom to fill in the blank:)
A} DPead colour
B) Deadlock
Cl  Dizzy hielghts
D) Dead stock
95) The dispute between India and Paklstan can
only be settled through negotiations,
[Choose the word nearest in meaning to the
underlined word:]
A} Peace treaties
- B)  Mutual discussions
C}  Nuclear war
D) Imposing certain conditions
96) We have nodata 1o go upan in this case.
[Choose the eorrect meaning of the underiined
phrasal vers:)
Al Establish
B) Remove
€] ‘Examine
0) Present
97) What is a character?
[Choose the correct answer:]
A) A poet of writing
B) Any person in literary work
< tlhwmlu the play
D) writing

55T GEMERAL | (C) &

Al
B]
o

]

100) You sakd to him, “Why did you call me nag

yesterday?”
[Choose the correct indirect speech:]

You asked him why you called him ﬂiﬂ'ﬁ
the previous day. '
You asked him that why you called him
names the previous day.

You asked him why he had called you

names the previous day.
Yau asked him why he had called you ;

names the yesterday.

THE END

For Answers: Visit:
Infoustaad Youtube Channel




Since sets A and B have 2 and 3 elements respectively. So their Cartesian product
A x B would have 6(= 2 x 3) elements.

We also know, any subset of A x B is a relation from set A to set B. But cardinal number of
theset A x B is 6.

So maximum number of relations from set 4 to set B is = total number of subsets of the
set A x B

_ 9b

f



